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QUESTION 1

For an Avaya Aura Communication Manager (CM) 7 Duplex Server hardware solution, what are two
capabilities/requirements? (Choose two.)

A. Utility Server and Services Access Link (SAL) are required to be installed with both CM instances.
B. The duplex servers provide protection for both hardware and software server faults.

C. The duplex servers must run in an active-active mode for instantaneous failover.

D. Identical Servers are required.

Correct Answer: D

QUESTION 2

A design you are working on calls for several "G series" media gateways, and you have determined the number of
Digital Signal Processor (DSP) resources that are needed.

In which two ways can you determine how many "G series" gateways are needed in a design? (Choose two.)
A. Divide the calculated number of DSPs by 320 to determine how many G450s are needed.
B. Divide the calculated number of DSPs by 120 to determine how many G430s are needed.
C. Divide the calculated number of DSPs by 340 to determine how many G450S are needed.
D. Divide the calculated number of DSPs by 128 to determine how many G430s are needed.

Correct Answer: B

QUESTION 3

The adoption of Avaya Aura(g) Media Server by Communications Manager (AAMS-CM) provides many of the resource
capabilities of the H.323 Media Gateways (MG); but it is not always a direct replacement. With Avaya Aura and
Communications Manager (CM) 8.1, both AAMS-CM and MGs are sold as media resource options, since AAMS-CM
can support more channels per instance than either H.323 media gateway.

When would AAMS-CM be deployed, instead of a media gateway?

A. If the deployment is supporting third-party digital stations

B. If the users require using T.38 fax

C. If there are multiple Instances supporting one Communications Manager

D. If the deployment is using a G722 codec for ad hoc conferencing

Correct Answer: B
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QUESTION 4

The account team is concerned about limitations associated with analog licenses that you have included in your solution
design.

Which two characteristics of analog licenses would you share with the account team? (Choose two.)

A. It is possible to uplift an analog license to a Core suite license.

B. Analog users will get all benefits of a Core license user; the only difference Is the device.

C. Analog license users can coexist in the same Communication Manager with Mobility and Collaboration users.
D. The percentage of analog licenses, within a solution, cannot exceed 60% of the total number of licenses.

Correct Answer: AC

QUESTION 5

You are creating a new Communication Manager design. You have included Avaya provided servers with G450
gateways. The solution requires 200 - H.323 telephones. Trunk service from the PSTN will be IP trunks. Shuffling will be
enabled. They have also requested call recording via Device Media Call Control (DMCC) application programming
interface.

To record all IP endpoints simultaneously, how many DSP resources are required?

A. 800 DSP resources

B. 600 DSP resources

C. 400 DSP resources

D. 200 DSP resources

Correct Answer: A
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